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1yan _
PR T i seiasonl 35

Woal x

{1 1 2y -1 13} 2n 4 1/2n
27. In the progression 16, 11, 8, 1,45 by =

16, 11, &, 1, - ot 388 £y (185 BEbx) =

1 -12 {2} a9 3 -69 {a) o

28. I{ 2, &, 18, 54, .. are |n geomstric progression, then 2°, &7, 187 547 . are in

2, 6, 18, 54, - oo forsdad® 3oz, e 2%, 6%, 187, 547, om0 e & ney
iy ap 2] GP

oot i fam B
13 wp (4] Mone

e Hd ol mes

29. The angle in & major segment of a circle is
B Ly podtasd® Blriic

11} an obiuse angle [2) an acute angle
F wQs P LY e P
13} a right angle (4] None
w5 oow B o4 e
30, &
o e c

In the above figure, if £3 is an obtuse angle, then At =
! 2 semet! £Bus ops fened, AC? =
| (1) AB* +Bc? - go? 2] AB* s« BC?

i3 Af*+ BC? +2BC- DB 4] AB? + BC® -28C. DE

SPACE FOR ROUGH WORK | 205553 fumaisaSeds i

POLYCET-2013/1-B [

nflor mati on provided here is only for reference. This may vary t he


http://www.recruitment.guru/previous-papers/
https://www.previouspapers.co.in/
https://www.recruitment.guru/
https://www.recruitment.guru/previous-papers/

al.

a3.

a8,

WWW. r ecrui tnment. guru

If the angles of a triangle are in the ratio 1 : 2 : 3, then the ratio of their corresponding sides
is

£ Seonsnt’D Smtoe 20 112 1 3 oo, d daton B0
{1y 1:43:2 2 1:2:43 i3 J3:1:1 4 2:43:1

. If the median of a triangle divides it into two triangles, then the ratio of their areas is

¥ Genenod’ foiedn Rasinn o Pt Teds Gfbelue SElels, o S PITEK00 SRG
) 2:1 @2 1:1 3 1:2 4 3:1

The distance between the centres of two circles of radii f and ry is d. The length of the
transverse common tangent is

Doty Hplh TSNy 1y Babdis ry. Seisiae Dogy e d oo, o fdoeds Gyl dlog Sl e

M T -m? @ fAT-R -2 @) @ -lhera? @ d )

c

In the given figure, the radius of the circle is 5 cm, AF = 8 cm, CD' = 6 cm. If OF makes right
angle at P on AP and OQ makes right angle at )} on CD, then PQ=

Sudwt' o Ty 5 om, AB - 8cm, CD = 6em. OF, AB § ceweris, 00, CD § senamts dal,
AB, CD e strebodd, PQ=

[y Tem (2] & cm (3} 5 cm (%] 4 cm

Which af the following are the sides of a right-angled triangle?
ol ot 50 couthe Seoune S, fautas!
{1}y 5,8, 11 (2) & 8, 12 (3} 56, 33, 65 (4 3 4,6
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4 2

k 2 3 -6
.]f.ﬂ.:[ ] B‘:[ ]lﬂ.d.ﬂ-rﬂ'-ﬂ. then A =

{m 2n

A—tmﬁfa_EMHABD e
“|m 2nf nL4 2] b uhboc ke
'3 -3 3 -3] -3 6] -3 6
1 2 3
ole7] @[5 e [P w2

I
12 3 s
"Az[.q. s 5]. B=l2]n‘nd{.‘=|l 3}, then the order of ABC is
3
12 3 l_i
A:L 5 5]’ B= :Jaﬁmc-[l 2] woxnd, ABC Qusj, S50

{1} 2x=2 2) 3x2 @ 2=x2 4 1x2

-2

, 1 1 0
- Given .-"-'-L ]‘B=[ﬁ z]ﬂ-ﬂd X be the matrix such that A= BX, then X =

-3

3
1 =2 1 0
.»h:[ ],El':[ ]mxm,deﬂxw.wx=

3 =5 0 3
12 -4 1[=2 4 12 4 il 2 4
W 5[3 —5] 2 E[ 3 -.5] ® 5[3 —5J X E[—s -5]
2
JfRJ‘“" u ],.Th:n R a
[x? -xyj
3
Ar ¥
Rnl::l.'g 7 ]mﬁ-ﬂ B =
1) =2xy-I 2} 2oy S 3} -2c¥y* ) {4 2xiy?ol

. The average of 100 numbers is calculated as 60. While caleulating the average, two numbers

are taken as 72 and 28 instead of 54 and 26, If this error is commected, then the corrected
mean s

IHDWWM.WMM&MEA, 26 Deubely ofosar T2, 28 ShFhod
B sTndnd, 30 Ak B sl S

(1} 596 [2) 597 (3) 598 4 595
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41. The formula for finding mode is
porolEo Bt SmBdas

Ifi o R L W
W T @ 3+ Ta
P IS
i I+ 1 4 14—
=l 2f +Ufi + fal W af +Uh + 3l

42, For a given data, mode = a and median = b, then mean =
et SERCTiaInE TR 4, Belpftn b wond, solifickl B =7

- ah-
20 @ 22 3 =2

g 2 2

(4] None (& ;)

43, The median of the scores -4, -6, -5 3, 0, 5 and 11 is
-4, =8 -5 3, O, Emllhwm

(1] 3 [2) -5 (3 0 4] 5

1 351 T4
& - gy oy L Ry LE]
44, The arithmetic mean (AM) of the data =, 2, 2. 2 75
1351 7%
- =, =2, =, — Sl woNNelD N
34 6 2 12
2 3 B :
w 2 @ 2 [ o< [+ 3

45, The mean and median of & unimodal grouped data are 282 and 305, s0 mode is
w9 cird 2ol Do W 38,2 Sebadn Sofgities 30.5 soud, o0 wtReliR

(1) 251 (2} 348 (3 295 4 326
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46. If the mean of the following distribution is 26, then the value of 'y is
meﬂmz-ﬁm, Y Deos

Variable [x) 1 2 3 4 5
==
Frequency 4 5 [
y 1 2 ]
e i r _J
1] 3
{1 (2 8 313 4] 24

47. The median of the following distribution is
1 ol Dprenna Sl

Class interugl 0-9 10-19 I
o 20-29 30—39]
Frequency 10 ia
24 29
i1} 2375 (2) 2325 {3) 23 4 2225
48.If A+ B=90F and t.mﬁ-rf. then cotB =
A1B=9ﬂ“hﬂcﬂumnA=§mmB-
4
m & @ = 2 -
: = @ 2 @ 2
48, a:'n.q.mu[gl?-ﬂhmsﬁ-ini?ﬂ’-njz
2
i1) sin? 4 2} cos®a 3 o 4 1
l-tan?g
cot?@-1
2
1} tan®a 2) et?e (3 sine 4 cos?a
SPACE FOR ROUGOH WORK 205508 Bepoosstedd Jutias
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51, In a AABC if £#B=9(° and tanC= |.52 then the length of the hypotenuse Is

L Ggsms ABC & £B= 90, mnC‘-tl—ﬁE eaas S, o Ogmion Qs YR

| 1 & 2 13 i3 21 ) 17

B2, sin? 20¢ + cos? 61°=

(1) 2sin? 2% (2] cos? &1 1 [4) MNome (D8 ;e
L'f%ii}iiﬁ'_

83. Yi-sins
[1) secH+ tand [2] secH-tan®d (3 sec B+ tan- @ (4] gect - tan” @

54. If @ cosfh+ bainfl =4 and a ainf - beosf = 3, then a? +b? =

a cosd + buin® = 4 2o8cin g sin# - beosl = 3 wo, a® b7 =

n 7 2 12 (3) 25 [4) MNone (28 =ss)

BE. tan Ftan2*tan 3*--- tan 89 =

1y == (2} O 3 1 4 None (58 =)
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86, tan? for +dens? 45 4 Asect P + Scos? 9P =

{1 7 [2} & 3 9 4 10

57. If tan 35 = k, then the valye of 20145~ tan 125
1+tan 145 tan 125°

tan 145~ tan 125° _

Wn35 =k eound, — —_—
1+ tan 45 tan 125

Tk 2
(1) 2 2 3 1ok? - k?
1- k2 1+k2 B il
5B, if cosfi = 2—"“;, then sinf =
ﬂT'i'ﬂ
cosB e VTN e i ae
m+ R
(1) mtn () mon 3 2Jmn mEn
: m-—-r m+n !J m+n 14} Frim
59, | radian =
1 380 .
{1} 56°16° (2 sor1g {3} 5615 4] Nene (D& ma)

60. If § is an acute angle, then cot@-1170°) =
B 8 wenBlmion, wued cot - 1170F) =

{1} =-tand 2) tan® (3 cotd 4 -cotd
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SECTION—II : PHYSICS

61. Positron (8 an anti-particle of
Zetepl wiend T8 PO

(1] neutring (2] proton
Ao harets

{3} mneutron {4} electron
Sty e

62. lonizing powers of o, P and v rays are respectively in the ratio
o, [ msboias ¥ Steren ecmalite 990 D50 S

[ 1:10%:10% @ 1:10%:107 3 10%:10%:1 4 10%:10% 1

63. At room temperaturs, the energy gap for pure germanium is
70 GER B, RN Bipane Qe ¥ weots (Jegee Heget’)
(1) 0-72 eV 12} 1-1eV 3 121eV ) 14 eV

64, The process of ‘mixing’ messages to rf carrier waves ia called
f oy Boomens, Baeo Boamesa S0 Bdon

{1} transmission 12) maodulation
saroy plivde auiis il

(3] demodulation (4] scanning
&-npedad mieh

65. BCD stands for
BOD wie 308 oo §r0 iR

{1} Binary Computer Digit (2} Binary Computer Decimal
b sogmach dadd gab sodppl Bl

[3] Binary Coded Decimal (4] Binary Coded Data
gsb SRk 2l psb Pk oo
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66. The relation betwesn acceleration a' and displacement ‘%’ from the mean position of a
particle in simple harmenic motion {SHM) is given hy

ﬂwm%ﬂﬁﬂ%wtﬂ}mmm&m(r}n%
Hensge

(1) aex (2] ae=-x 3 nﬂ:l (4} uu—i
x x

67, The ratio of intenaity of magnetization and the intensity of applied magnetic Geld is called
LY SR sdbdn ot R0, RAMels sasdes 18 Spoe 250

(1] permeability 2)  susceptibility
s Supoed

(3) retentivity [4) ferromagnetism
Ditoddnd Pi i olbtiia

68. The property that change in velocity of light takes place at the boundary of two media is
found in case of

mmmhummwwmmmmm

(1) refraction {2) reflection
sz SO

(3] interference 4] polarization
Lyt =]

69. The working principle of a transformer is based on

PEE D Sy (Sov) e 50 S
{1} Ohm's law [2) Fleming’s left-hand rule
15 Detiotay Fheefl Jumnale Do
[3) self-induction 4} mutual Bduction
Hyete (b ey fon

T0. The angular momentum of an electron is Eiven by
. Ses da, Srban gmdne
h h h reh
¥ a 2x UL
r M 5 @ 2 @ — =
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T1. The long thin metallic strip fixed at the back of vernier calipers can be used to measure
Dol ponk, 2y o DAl diauted oF S Sy et A00 Felond Asdmin:

{1} thickness of a wire {2} internal diameter of & hollow cylinder
ez b g wond mpe

(3] depth of a hollow cylinder (4] external diameter of a solid sphere
o gy oo Aoy oo Pypsan

T2. What {s the value of acceleration due to gravity |g) at a height of 1000 km from the earth’s
surface (radius of the sarth = 6.4 x 10% m; 'g’ on the earth = 9-8 m /a?)?

gD aB0ses med 1000 L Jogf® rothts Byme (gf Dess (GrDs TydwEw = 6.4 % 10°% b, g

=0.8 hfn?)
1) & 7T4m/ e [2) 8-27m/s° 3 9.8m /s’ 4] Zero
674 Safn? 8-27 Suf»? 9.8 b/t a5y

T3. If the distance between two objects is halved, then the gravitational force F changes to
Dot B0 Rainte HSd BedRdics, Te Bal; Moo voo (F) Jo Antined
iy Fy2 (2] 2F (3] 4F 4 P4

T4. The distance traveled by a freely falling body after 2 5 is
fmap ot 52 ey Sy 2 WEoe Bowd Sdirrlels Snte

i1 2m i3 4-9m i3 9-Bm 4 19.-6m
2 b 4.9 9.8 % 19-6 5

75. The ratio of the distances traveled by a freely falling body in the first, third and fifth second of
its fall is

gy dolits B2 gy B 18, 32 Relciy 52 Whied paree date deow 250

{1 1:3:5 2 1:5:9 (3) 1:9:25 (4] 5:3:1
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T6. If the velocity of an artificial satellite iz greater than 11 km/s, then it
Y s fhe Qe e 11 kinfs Yol Jyier God, ma

{1 returns to the ground (2] rotates around the earth
O0N EEed Mitationn EPls Gy OoaBIOD

{3} escapes from the ground [4] moves on the earth's surface
S ity Soie Moo Blnototiswscd € GS00os) Bl dsused

77. A pendulum of length 50 cm has & time period of 1 5. If the length changes to 100 cm, then
the time period is

mmhmwmuﬁ‘wﬁ-ﬂpmlhwmluumh:.muwungnm

{1} ©-58 2) 1s @ 28 4 +Zs
0-5% 1% 2 W2

T8. The heat energy produced by completely burning a unit mass of & fuel is called
BRI R T LE gelRe, BeRngem fiod Doste Sdin 3940 Disassts

(1} calorific value [2) specific heat
3008 D Sadie

{3 latent heat of vaporization (4] thermal efficiency
wiyeus wikie & age

79. The pair of physical quantities having the same unit is
Bt 5! 3 PR SEA Al mow SOSNNs

(1) force, pressure (2) thrust, pressure
woe, bane wgees, bate

(3} thrust, weight 4] weight, pressure
ugiuee, EPtR ey, haws

80. A train moves in a curved path of radius 49 m with a velocity of 4-% mfs. The angle of
banking to avoid accident is

L3 P 49 Lo oo e ormo Saved® 49 Bl Sned wsestuns. PRy obctond weels Mg
s
1 1

| i um"[ﬁ] 2 mn"[:ﬁ] 3] un"‘(ﬁJ [ !y
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&1, Which among the following rays has the least wavelength?®
ot Sterut® 37 000MRY o S0

[1] y-rays [2) X-rays
y-doemaz X-Borre
! {3} Microwaves (4] Ultraviolet rays
Rufasame: eobotiae Bocre:

82. Working of a stethoscope uses the property of sound called
FOIME wne BOfe &Y Doy, D Soph wpuid &0 Siged

1) resonance (2} dispersion
e ug e

{3] refraction 14) reflection
sl Eoigme

83. In a resonance experiment, a tuning fork of frequency 425 Hz is used so that the ﬁrsl.nn:l
second resonances ocour at 20 em and 60 cm respectively. The velocity of sound in air at
room temperature is

425 Taf Toeiiee 30N NOSeowD APl wEsPO mulude @drfe Sl Swdd folds Telu
e Busyr 20 Deth, Budais 60 Teds. by Bibomrs. wips 18 &0 ag mbE' LU She

(1) 230 m/s 2] 335 m/s (3} 340 m/s [4) 345 m/s
330 fofn 335 Mofu 340 Lofn 345 bofh

84. Light energy flowing from the source per unit time as perceived by human eye is called

ol Bt L ol e Heod nf TR Toof wlrgutecly med 40 Doselels
(1) luminous flux [2] candlepower
Tod wlTire wotd a0
{3} luminous intensity 4] solid angle
Tod dpe 38
85. Which among the following is not a characteristic property of laser?
ot P Baf Tod cnsa wRda
(1) Low intensity {2) Directionality
o Sabaid
(3] Monochromaticity 4] Coherence
St Hewgl
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B6. The relative permeability ju.) of a diamagnetic material i

Bdr el 3oy Sy sivbus )

() pr=>1 2 ps1 (3) pp =1 (4] Mome (28 mas)

87. The force of attraction ar repulsion between two magnetie poles does not depend on
mmmqmmﬁu@abaqﬂm A% weasens

{1} medium in which they exist 2] pole strengths
=-e =1 -0 Qe

(3] distance of separation (4} length of the magnet
LepEmee woldnalic S

88. Ifa plece of copper and a piece of silicon are cooled to lower than the room temperature, then
the resistance
mﬂmmmwmmﬁmmmq%w;ﬂm
{1} decreases both in copper and silicon
il MEmS BodaiEtun B

{2] increases both in copper and silicon
ol Ml Bododstn Talladsiis

3)  increases in copper and decreases in silicon
maba Lo, bemist B

%) decreases in copper and increases in silicon
rale v, HowSEt o

89. The resistance of a manganin wire of 2 m length is 20 0. Then the resistance of 5 wire of 5 m
length of same material and same area of cross-section i

25 mmmhmenwﬂ.shmmﬂmwﬂm;@
B 5 O o6fge
1 4o 2) son 3) 1000 4] 2000

20. Two resistances x and yare connected in parallel combination. If their equivalent resistance
ia 0-Bx, then the valus of Y i3 equal to

mmﬁnﬁmmewwmm.mmﬂmu.Mmﬂmym

{1 8x i2) ; 3 x 4) 4x
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SECTION—III : CHEMISTRY

21. The bond angle in diamond is
sptioss’ pegifmin

(1) 10%5° 2 120° (3] 90" (4] 104"

2. Alkanes generally show

P = Ty o Palotcs

(1] addition reaction (2] condensation reaction
oo D Smddlh s

{3} substitution reaction [#] polymerization
S 2am 2pzabetios

93, The gas used in artificial ripening of fruits l=
Teauny DSt Gt DoSam BRtaul PO S

(1] methane {2} ethane
A5 oS

3] ethylene (4} acetylene
apbs L L

94, The metal used to test alcohol functional group is
wo il Slectls HRaPENy oot o Firhw

(1} Na (2] Mg 3] Ca (4] Cu

96. The functional group of aldehyde is
ol s, gt MoamEG

(1) —C—O0—C— (2} —CHO 3} —CO—NHy 4y —CO—C—

SPACE FOR ROUOH WORK [/ Jogaod Tunoaetiods e

POLYCET-2013/1-B 19 | BT.O.
nffprnmati on provided here is only for reference. This may vary t he


https://www.previouspapers.co.in/

WWW. I ecrui tment. guru

86. The reaction that takes place when glucese is treated with Tollens reagent is
npstins O, momeelf Mo maan 2o

(1) Ag'=sAg i2) cu?*—cu [3) Ag —Ag* [# Cu* = Cut

97. The enzyme that breaks down glucese to alcohol and CO, is

Ry my386 st €O, m 2e 58

1] invertase [2] maltase
T gl

13) zymase 14) diastase
gt priE

98. Which one of the following is peptide bond?
det st "..-«35 BoSEL
(1) —C0— {2} —CO—NH— 3] —NH— ) —CoO—0—

99, Which one of the following is unsaturated fatty acid?

; ot T wiotns M enge
11} Lauric acid [2] Stearic acid
oof eszutio Hef ey
{3 Oleic acid {#) Palmitic acid
Eboak eonian ool eiiotn

100. Which one of the following is not an addition polymer?
B ot o0 Beten ME mo0

1) Pelythene 2] Mo
L5 bty
(3] Polyacrylonitrile (4} Phenol formaldehyde resin
bl pofarpl el
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101. Which one of the following is the isobar of acte
Ba ot 8 ,C'Y Doy, ol

14 N:s
(1) ¢C% 2) §C** i3] oM 4

102. The orbital which does not lie along the axis is

B o2 wiuree' oy B0 80w

4 p
(1] Px {2} dxﬂ_ui (3 dxy W

103, The number of electrons that can be accommodated in an orbit ia given by
18 5 8 ol e Jpoiie Jogy Seais FOpRS

¥ 4) In
) n* 21 an* 3 n 14

104. The number of unpaired electrons present in sulphur ia
el (regman ) Mo wowl S edg

2
{1} 1 12) 4 (@ 3 4

108, lopic compounds are generally formed between
oA Sorges MO e SE0AS 20 St

-metal
s (2) metal and non
i1} ;:-; meta
13) two non-metals {4} noble gases
Bots wdiw (o
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The number of & (sigma) bonds present in ethylene is

30b5e* no bmy (o) wog seny

i 4 2 5 3 2 1
Which one of the following is not having pyramidal shape?
Ta dol 08 butead wnyd B2a
{1} NH4 (2] PC#y4 [3) BF; (4] PHy
Which one of the following ia not a Dobereiner triad?
dots 08 oulbE ek moa
{1} €4 Br, 1 {2] Lk MNa, K {31 S, Be, Te [4] N, Na, K
The modern periodic table is constructed based on
E =L — SE EERRL RoEnSA
(1) atomic radius 12} atomic weight
BRI TR SP R
{3} atomic number [#] atomicity
E M [T StLR)
Which of the following inereases from left to right for a given period?

dob 8 Loanle® Sono ot A pgpam bume

Atomic radius
B IF&:‘PFL);

Electropositive character

55 Dy e

(1

(3

(2} Oxidizing property

el ite Mo S

4} Reducing property

EoNOMt TRt S
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111. Atomic size in & period from left to right
o5 SocnEst soirme SiEPEe e P el D PR

{1} increases {2} decreases
Totianads B

[2) remains same (4} initially increases then decreases
e Tasas HOR BIaNG BAS

112, The formule of magnesite is

s o
1] MgCOa [2) CaCOy-MgCOy
[3) MgCr, KCr 6H,0 {4} MgS0, -THO

113. Which of the following is covalent in nature?
Aot T Sodrelb yeEte w0

[1) CaCfy (2] BeCla i3 MaCi 4] MgCia

114. Stream of coal gas is passed over floating Mg during electrolysis of MgC# g to prevent
uwrzmmmugimﬂm@ ........ 2 Dffpetm: Solport

(1] oxidation of Mg {2) reduction of Mg
M wdsonse Mg goinesio

(3] waperization 4] solidification
b sarkgminmes

115. If n moles of sohate are dissclved in 500 ml of a solution, what is its molarity?
500 tobbes oonett yed b rde Enﬁnmfuﬁnw

(1 n (2} nf2 (3 2n [4) Sn
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116. The male fraction of HyO when one mole of HOY is dissolved in three moles of water is
3 2rdo B8 | e HOY 3 0o o e B 2ed gerion

{1y 025 (2} 0-33 13 066 {4) 075

117. Which one of the following is acidic in nature?
ol 0% ey dprinis So8

(1) 8i0gy (2} MHy (3) NazO 4 MgO

118. The colour of methyl orange in NaOH solution is
NaOH peinet’ 2034 wled vl

(1) yellow (2) orange
s wlod Sols

{3) red 4 blue
Sy Seo

119. Ky of water at 25 °C in r:l:ml.q!!,.l'h'me2 in
25 °C 24 B duow K, Do 2nE? bl Zuet

(1 1x1g™ 2 1x10°13 @ ix10™M8 4 o

120. The pH of 0-001 N HC/ salution is
0-001 NHC/ doay, pH Dexiy

(1) 2 2 001 3 1 4 3
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number . [LT]3]1 o[ ] hElanaidee | Gosn
Time : 2 Hours Total Marks : 120

Note : Belore answering the questions, read carefully the instructions given on the OMR sheet.
et e Sdbot Suoss OMRE ey HBdod’ giaeds SRSl @evdm SSted.

SECTION—I : MATHEMATICS

A. If the ratio of the sides of & triangle is 1:1: +2, then their angles are in the ratio
LY Pty Sk torSoo Tpd 1: 1 47 vos, of Frtoe 250
(1) 1:1:2 @ 1430 3 1:/3:2 4 1:1:42
2. The angle of elevation of a top of the tower from a point 120 m from its foot is 45°. How much
the tower i3 to be raised when the elevation is to be 60° at the same point?
120 R ssies doed of Hogndy 45° S Seines 2o, of ofute teed 20 Spfaw 60° Briud
LAl Bofuds Job boldibno
(1)- 12043 m (2] 120m i3 1203-1m 4 12003+ m
3 If A+ B= 135, then [1+cotAll +cot B =
A+ B=135 wend, (1+cot Al +cot B =
i 1 2 =1 @ 2 4 -2
#. Current generation computers are

it TENE fo Soirpsds

{1} Babbage machines {2)] Numen machines

eyl Bales aral ke ’
(3} Leibaitz machines (#) Pascal machines

sy Tl B 2ubing

8. The main component in the 2nd generatbon computers is
Toliitida Selradd’ potitam GBAeIeARD

(1) transistor {2} integrated circuit
P Aol Sediro:
|3} wacuum tube (4} MNone
ariy hues o iy
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} The centroid of the triangle whose vertices are [1, 4), (=1, = 1), {3, -2} is
(L 4k =L -1, (3, - 2) et Dobisipes S fo @it dul, Rbbdsisin

1 -3 2 Ly B3 m-g " FLd

7. The area of a triangle whose vertices are A[3, 2, S(11, B and Ci8, 12 is
A3, 2, Bl11, & Zelatw C[8, lm-&:mwhgwrmmm

1 23 2) 24 [3) 25 (4) 26

B. The distance between the points (o cea25, O) and (0, a cos65°) is
2 cos25", O Sebotis (0, a cos 65| Dellxye Bafy Sntiin

(1) a {2) 2a 3} 3a 4 @

8. The coordinates of the peint which divides the line joining the points 2, - 4) and (5, 6 in the
ratio 5: 3 are

[2, -4} 2oty [5, 6 st Dotutpe Sep 500let: 5 3 2506 polons Doty

(1 {?, --::1] 2) [—%-21} {3) {—1—;“‘- 21) '[41 ('2—9-21]

10. If 2x - 3y+5=0 and 4x + ky-2 = 0 are two parallel lines, then the value of k is
2x - 3y+ 5= 0 2edcin 4x + ky -2 = 0 oind Srosopd k =

{1 -6 2 -3 [ 32 4 &

nf
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11. The point on the Une 2x - 3y = § which is equidistant from (1, 2) and (3, 4} is
(1, B modema (3, 4) Dotspes Suandsnd® Hour 2x — 3y = 5 ot Sule} e ety

m =3 2 M@0 30, -1 4 .8

12. The triangle formed by the points (0, 5), (5, 0] and (0, O} is afan
(0, 5, 15, 0) asbemsa [0, 0) byud® Dot B

{1} equivalent triangle [2) isosceles triangle
Ssentig dreiten Hefuerimg (Dt

(3] scalene triangle (4] right-angled triangle
Ipooe A esul'e Dbt

13. The slope intercept form of the lne ax+by+c=0is
ax + by + o = 0 35idy QN e wobjol PN

M y+Z4s=0 @ y-Teg=0 @ yeF-ge0 W y-F-3=0

14, The equation of the line passing through {1, 2) and perpendicular to x+y+1=0is
x4 gt 1= 0 s Soelel conar peer (1, 2) Delllp oo Jou, soider Blustee 7

] y-z+1=0 2) y-x-1=0 3 y-x-2=0 4 pex-2=0
| ’
15. The lne joining (-1, O and [-2, -+/3) makes an angle of ............ with x-axia.
[~1. 0 mebctan (=2, - +/3) Dollipetis Soulp Hotle - ofef ... st Boaa
1y 3 [2) 45 3 o 4 7F
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16. The knverse of p=gis
P = q o RS Qo Mfae

(1) ~p=-q 2} g=-p [3) p=-g 4] -g=-~p

17. In a class, there are 26 students. In a survey, it is learnt that 8 would like to take tea but not
eoffee. If the number of students who like tea is 16, then the number of students who like
only coffes but not tea is

L5 oonod! 26 fwed Soymen Suik, H06 8 oo Rt o o P, 16 D00l O i, s T
ampds Evimd oy

i1} 1a 2 8 3 24 4 10

18. Il ArB=g, then B A" is
AnB=$uooud BAd =

i A 2) B 3 A 4 &

2

19. fix) = ’i 'f is defined, If its domain is

2
fix) = 5;_?9 e grloatig dla, pdat

() 3 2 Z2-13 3 R=-13 # R

20. The range of y=tanx is
W= tan e et Pl Quy ob

M -1, 2} -, @) [%;.%J () None (34 zes)
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21. If a? + k% +¢? = 1, then ab + bo+ ca lies in the interval

. ; -

at +b? 4 0? = | woxs, ab + be+ oo D wotiftad® Suolite

i W2 2 -9 @ 4.9 () 1-1, 4]

x _ay?

22. The value of the middle term in the expansion of [-E+-;] is

e

— = = = =)

(05 opan

1] 252 2) -252 @3 = i4 -

i @ ) 253 252
23, 0 x+ye W0 and x + 2y 2 10, then the least value of [ = x + i is

x4y 10wl x + 2y 2 10 woasn, = x+ y ool 505 Sool

n 3/20 21 5 13 3/2 {4) 20/3

247 Which of the following is convex?
Bon danaed’ D8 Degmd Ald

(1) 2 @) 4 {EED

25 a6V 46 =0 then a+ bre=
a? 4 BM3 V2 gD, asbecs

(1) 3-¥abc 2y ¥abe (3 27abe (4] 3 Yabc
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